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1.

175-N

ffeiad & ¥ I9-|1 Hagd § qEd
Tl B ?

(A) e

(B) ¥R

(C) afqeard

(D) V&

Fdfe’ FRfYd T

(A) ST W

(B) HHAIRAT & fgfert A
(C) oM ¥

(D) =z 3

Yo Bz Rigrea @ e foe
o 2

(A) ST HAR

(B) faferym Sft. ameeht

(C) TR IS

(D) X~ ferae

TR A 9 W ®

(A) TP Fa B forg

(B) fad@iaxy & forg

(©) 3irenfi T & forg
(D) ¥e4 & Rigrl & forg

(3)

Which of the following is not a barrier to

communication ?
(A) Perception

(B) Noise

(C) Distrust

(D) Affection
SWOT is related to :
(A) Organisation
(B) Staffing

(C) Planning

(D) Control

Who developed theory Z of management ?

(A) Douglas McGregor
(B) William G. QOuchi
(C) Chester Bernard

(D) Rensis Likert

Henry Fayol is known for :
(A) Scientific management
(B) Rationalisation

(C) Industrial psychology

(D) Principles of management
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RS G H TROR U4 T0 B
qGIG S AN foam ST @

(A) R-BRRI FH oA & folw

(B) SR & fog

(©) Wl g @ forg

(D) sIfiet B qRad B B for

SR &7 SR B -

(A) AN BT FHGT BRAT

(B) BRIRT AN BT AFGRH AT

(C) TN & S

(D) <M @ Wesl ¥ G 3G Uared

SAI® g el & T Al -

(A) T ARPR T IR QT 2 |
(B) AT =fadl o1 HeiRer oRar g
(C) ®OR TddeT Ud AT Fval & |

(D) T ATAMHT I MAIS ABRI

BT YIS B ¢ |

(4)

The technique of ‘carrot and stick’ is used

in a business management for :

(A) Reducing absenteeism

(B) Motivation

(C) Effective leadership

(D) Rewarding workers

Motivation refers to :

(A) Coordinate the people
(B) Guide the working people
(C) Terrorise the people

(D) Inducing people to work willingly

Under democratic leadership style, a

leader :

(A) Keeps all the rights with him.
(B) Determines all the policies.

(C) Holds strict supervision and
control.
(D) Delegates necessary rights to his

subordinates.

Set-D



8.

10.

175-N

Fefofad & @ 8N waid &1 99
ARTEH BIF-47 o ?

(A)  TI BT aIHear

(B) HI TAT T T

(C) IFTAR® FE W IR

(D) URIfTHAT W IR

98 ufhar frad  ardfde  gRoE @
Juferd gRoml | gaT @ SR g,
PEATI B -

(A) FT

) i

(C) =

(D) fHam

“TJd @ U TG B 8 |7 I8 @R
fefoad % 9 fowar o ? 2

(A) Iq P argar Rigr

(B) Iqcd T FIERIAD RigT

(C) @ & Arl-aed Rigra
(D) < BT FE-afdd Rigr

(5)

8.

10.

Which of the following was main
contribution of Henry Fayol ?

(A)

Universality of management

(B)

Time and motion management

(©)

Emphasis on informal groups

(D)

Emphasis on contingency approach

The process in which actual results are

compared with desired result is called :

(A) Coordination

(B) Direction
Control

(®)
(D)

Planning

“Leadership qualities are inborn.” This

notion for forms part of which of the

following ?

(A) The followership  theory of
leadership

(B) The behavioural theory  of
leadership

(C) The path-goal theory of leadership

(D)

The great men theory of leadership

Set-D



11. “To Ffog &1 v fIvg & gamw 217 11. “One man control is the best in the

BT % . world.” is a statement of :
(A) & P (A) Haney

(B) fh=rel T fhmrel @1 (B) Kimball and Kimball
(©) faferm aR. ST @ (C) William R. Baset
(D) TP. I, ok Bl (D) F.W. Taylor

12. R Pl Thdl & I & Th A 3D 12.  Unity of command implies having not

B —— more than one ................. .
(A) IR (A) Subordinate
®) (B) Friend
(C) JAEHRI (C) Boss
(D) FPTE (D) Unit
13. dsnf® wewr & fOar € 13.  The father of Scientific Management is :
(A) TN B (A) Henry Fayol
(B) Tced w1l (B) Elton Mayo
(C) TB. $&g, ok (C) F.W. Taylor
(D) IRHA (D) Simon
14, SOICT T/H 3 % 14. Budgeting is mainly a part of :
(A)  oE o1 (A) Planning
(B) WG @I (B) Organising
(C) Tz @ (C) Controlling
(D) AT @ (D) Coordinating

175-N (6) Set-D



15.

16.

17.

18.

175-N

frfafed & 9 a1 999 A0S
ApdIe TS BT w0 § ?

(A)

(B) T IR %

(C) dMfa

(D) FRTH®

UG JARPRI T IR BT AR R
qHT §

(A) DI AR

(B) dad IR

(C) 3MHR Td <R Ml

(D) 712 IRFR iR 7 & <R

AR TS BT A B

(A) THId forg

(B) S FEwIRTa

(C) IR BT DR
(D) foiiora <R

TN Balad A fEfRed Rgra @
yferare el fda -

(A)
(B)
(©)
(D)

el BT RIgT
Ty wifdd @1 e

T b1 NI

3G B A @A BT RIgr

(7)

15.

16.

17.

18.

Which one of the following is the most

democratic form of organisation ?
(A)
(B)
(©)
(D)

Line
Line and Staff
Committee

Functional

A superior can delegate to his subordinate :

(A)
(B)
(©)
(D)

Only authority
Only responsibility
Both authority and responsibility

Neither authority nor responsibility

The advantage of committee organisation
IS :
(A)
(B)
(©)
(D)

Quick decision

Greater participation
Centralisation of authority
Divided responsibility

Henry Fayol did not lay down the

following principles :

(A) Principle of order
(B) Principle of Espirit-de-corps
(C) Principle of exception
(D) Principle of scalar chain of
command
Set-D



20.

21.

22.

175-N

BEES)
EDEL

I

BN Al gRT gfauifed  WeRE @
Rgr &

(A) 14

(B) 10

C) 6

(D) 4

IATEING e B © -

(A) Y ye gRT giord

(B) direrfie

(C) WSS ac A Yefdid

(D) e & &l B W ¥ BfPRS

(8)

19.

20.

21.

22.

Chain of command is a result of :

(A)
(B)
(©)
(D)

Centralisation of authority
Horizontal delegation of authority
Upward delegation of authority

Downward delegation of authority

.................. is required to meet the

challenge of change.

(A)
(B)
(®)
(D)

Planning
Management
Control

Staffing

Principles of administration enunciated

by Henry Fayol are :

(A) 14
(B) 10
(C) 6
(D) 4
Informal organisation is :
(A) Created by top management
(B) Flexible
(©)

(D)

Shown on organisational chart

Harmful to achieve goals of

organisation

Set-D



23.

24,

25.

175-N

fefogd 4 9 @F-a1 $UF 98

g 7?

(A) IS SRreel B ¢ |

(B) e swredt g 2|

() frarm T frzmr <mi srrest
Bl €|

(D) SWE ¥ ¥ i o quei
BIT B |

SN YR BT IR &+

AIERIAD NG
I Te Rigr
ENIRIECAEE AR E
IR FT RIg

(A)
(B)
©
(D)
o @ed # qReR W Ud
el Y@ & wU A yaifed el g, o9
e B :

(A) AfTE FTed

(B) <M e

A .
[p[cHD Hilod

©)
(D) UG WTeH

(9)

23.

24,

25.

Which one of the following statements is

correct ?

(A) Planning is forward looking.

(B)

Controlling is forward looking.

(©)

Planning and controlling both are

forward looking.

(D)

None of the two is forward looking.

Hawthorne experiments led to :

(A)

Behavioural theory

(B)

Scientific management theory

(©)

Administrative management theory

(D) Systems theory

The organisation in which power
of authority runs in a straight line is
called :

(A)

Military organisation

(B)

Committee organisation

(©)

Functional organisation

(D)

Lateral organisation

Set-D



26. U D 3MIDdT © 26. Management is needed at :

(A) FH TR =R (A) Lower level

(B) "M TR W (B) Middle level

(C) ST &R | (C) Top level

(D) SWa &l (D) All of the above
27. oM 2 27.  Planning is :

(A) S9TD (A) Necessary

(B) FEWEH (B) Unnecessary

(C) T @I q9ial (C) Wastage of time

(D) o @ §afal (D) Wastage of money
28. SWOT &I SUIFT Bl & 28. SWOT is used in :

(A) TR faveryor § (A) Environment analysis

(B) HRIMIT feiRer § (B) Strategy formulation

(C) G (A) 3R (B) (C) Both (A) and (B)

(D) SUYd H § I el (D) None of the above
29. fhITH® ATSH & ST © : 29.  The founder of Functional Organization is :

(A) <8 (A) Terry

(B) I (B) Fayol

(C) T (C) Appley

(D) TR (D) Taylor

175-N (10) Set-D



30.

31.

32.

33.

175-N

yaIa I =T faar o g
(A) 7 TR geuat g
(B) TeTH TR TEIBI gRI
(C) Soad¥ WRIT bl gRI
(D) SWE Il & gRI

Sifel 3R, S & AR IS & JaR
g

(A) 8

(B) 6

) 4

(D) 2

fTTRIERYT | B ©
(A) I B F&Ie]

(B) ©F @I §aral

(C) N Pl qardl
(D) SWYad # | BIg T2

“rerd RAEKIIRED
fySTes B b & qA IR dD b S
TE PR <l 817 T8 B ®

JTSATHSG ATl

(A) SR @I
(B) X @I
(C) Teld @
(D) s @

(11)

30.

31.

32.

33.

Managerial control is done :

(A) By lower level managers
(B) By middle level managers
(C) By top level managers

(D) By all level managers

According to George R. Terry, the types

of planning are :

(A)
(B)
(©)
(D)

N B OO @

From departmentaton is :

(A) Wastage of time

(B) Wastage of money

(C) Wastage of resources

(D) None of the above

“Wrong organizational structure prevents

business performance upto the extent that

it destroys it.” This statement is of :

(A) Drucker
(B) Terry
(C) Allen
(D) Brech

Set-D



34.  “3ARTIT Iradie YDAl F IFhl BN 34. “The main reason of most business

enterprises becoming unsuccessful is

P Y SR JHIA Igcd © |7 I§ U

inefficient leadership.” This statement is

g
of :
(A) DIcH Tq ST B (A) Koontz and O’Donnell
(B) UICR U, SR &I (B) Peter F. Drucker
(C) SifSl 3R, X &1 (C) George R. Terry
(D) ¥ Td Yol & (D) Mooney and Rayleigh
35. AfOHH SR I @ - 35.  Maximum discipline exists in :
(A) T Td HHART ATe # (A) Line and staff organisation
(B) fAfT dTed # (B) Committee organisation
(C) T IS H (C) Line organisation
(D) fharH® e H (D) Functional organisation
36. U Udh D U uferar 21 36. Management is a creative and ................
process.
(A) TaRed (A) Systematic
(B) qfed (B) Organised
(C) R=<R (C) Continuous
(D) I (D) Planned

175-N (12) Set-D



37.

38.

39.

175-N

Ul B bI-A1 NG I8 beal © (b
ST Bl B R B foly e & &
Se¥T ¥ TP SN 3R T AT 8
1Y ?

(A) e @t g

(B) IIRHR 3R STReIIE

(C) TaxT T Tel

(D) STda # & Big 7L

R JeEa Bl B

(A) et

(B) 3MaTH

C) e

(D) Suga H A Bl 7Tl

(13)

37.

38.

39.

Principle of management which implies
that there should be ‘one head and one
plan’ for a group of activities having

same objective is :

(A) Unity of direction
(B) Authority and responsibility
(C) Unity of command

(D) None of the above

Control is a managerial function :

(A) Compulsory

(B) Necessary

(C) Optional

(D) None of the above

The effect of departmentation on workers
is:

(A) Increase in efficiency

(B) Increase in inefficiency

(C) Increase in negligence

(D) Moral decay

Set-D



40.

41.

42.

43.

175-N

ST Y, T Bl fharcid & & :

(A) WM
(B) W R

(C) 3FaTH

(D) SWH # W B &

gRRad & I Bl ©
(A) drf

(B) 3= ¢!

(C)

(D) SWE # W B &

(A) dldl
(B) 3 fag

(C) WM fag
(D) fHaom

(A) CIRTd AThROT
(B) w\mM faEm
(C) 38l miftq

(D) <er

(14)

40.

41.

42.

43.

Production management is a functional

area of management :
(A) Ordinary

(B) Most important
(C) Unnecessary

(D) None of the above

The speed of change is :
(A) Slow

(B) Veryslow

(C) Fast

(D) None of the above

Objectives are the ...........

management action.
(A) Design

(B) End points
(C) Starting points

(D) Planning

Effectiveness is  synonymous

(A) Cost minimization
(B) Resource control
(C) Good attainment

(D) Efficiency

with

Set-D



44. YRIIT B : 44. Change s :

(A) S9TP (A) Necessary
(B) I & q&ial (B) Wastage of time
(C) ¥Rl Bl qqral (C) Wastage of resources
(D) 9IS (D) Unnecessary
45.  IRTIEdRY IWYa @ : 45. Departmentation is suitable for :
(A) oY IER & forg (A) Small industries
(B) IS I&AM & foru (B) Large industries
(C) R M & forg (C) Cottage industries
(D) T UHR & ST & forv (D) Al types of industries

46, “STW ENT U9 Sif~aq gRuMm 217 IT 46. “Management by objectives is the final

result.” The statement is of :

DU T
(A) @ (A) Terry
(B) el @l (B) Allen
(C) g @I (C) Drucker
(D) SR DI (D) Davar
A7, TP JRRT BT Epe) o T 47. The main function of liason is :
(A) BHARAT BT AT BT (A) Appointment of employees
(B) o<1 & W& =l (B) Manage finance
(C) 3T AT (C) Book orders
(D) TN AN ¥ D Bl (D) Contact outside public

175-N (15) Set-D



48.

49,

50.

51.

175-N

A Y gReHIT # fbd IRTSH

fepar 2

(A) I oeTs

(B) U®. &g, Colk

(C) UecH HAI

(D) SWH # | B &l
UG YIS AU AT

3BT BRI HRAT qhaT ¢ |

(A) TET DI
(B) dUIR® B
(C) TFId! BIer
(D) I I

(A)  TIET
(B) fawm
(C) 3FfuRoT
(D) i

9 A |

(16)

48.

49.

50.

51.

Who contributed towards the

Relation Approach’ ?

(A)
(B)
(©)
(D)

A manager with good

Hawthorne Studies
F. W. Taylor
Elton Mayo

None of the above

get best out of people.

(A)
(B)
(®)
(D)

Planning involves .............. :

(A)
(B)
(©)
(D)

Human skills
Conceptual skills
Technical skills

Visual skills

What to do
When to do
How to do

All of the above

Supervision
Planning
Motivation

Recruitment

‘Human

is able to

is the sub-function of direction.

Set-D



52.

53.

54.

175-N

TR BT b’ NG & IR -

(A) el TP Ie B AT

(B) Yd-fEiRa Stwar g ARy

(C) SEwl H AW BT A1y
(D) SUE F F PIE Tel

P fohd MR W e fdar o g 2
(A) o

(B) BT

(C) JivaRa®

(D) W

fefoRad & ¥ o9 9-forufafted yawr
[IRYRT ¥ [T T8l & ?

(A) TN T TR
(B) X~ fefae
(C) I IR

(D) Teed Al

(17)

52.

53.

54.

‘Unity of objectives’ principle states that

there should be :

(A) Only one objective

(B) Pre-determined objectives

(C) Co-ordination among objectives

(D) None of the above

On what basis are jobs grouped in order

to accomplish organizational goals ?

(A) Departmentalization

(B) Centralization

(C) Formalization

(D) Co-ordination

Which among the following is not related

to the Neo-Classical Management

Thought ?

(A) Douglas M. Gregor

(B) Rensis Likert

(C) Max Weber

(D) Elton Mayo

Set-D



55.

56.

S7.

58.

175-N

YY) Y’ Pl

gl

(A) MY TR

(B) W R

(C) fael ®R

(D) SWH # | B &l

I Y & 1Y YR § HH BT B 56.

(A)  DIIRRT

(B) fddsrIdRuT

(C) BRI

(D) SWH # W B &l

SER gRT U Bl 39 I Al o1 o 57.

g

(A) URUIH ERT U&=
(B) <l gRT Ya=

(C) FrRISH gRT yer
(D) HATHT gRT Faw&I

TR W
fATeReT BRI & IAC & MR W
qiffgd R 2 |
(A) IRED
(B) S
(C) wnmfer®
(D) Wfshar

(18)

Al T o] 55.

amemRd 58.

................. is also known as ‘supervisory

management’.

(A) Top level
(B) Middle level
(C) Lower level

(D) None of the above

Work load of top management reduces :

(A) Centralization
(B) Decentralization
(C) Transformation

(D) None of the above

Management by objectives is also known
as:

(A) Management by results
(B) Management by goals
(C) Management by planning

(D) Management by evaluation

Departmentation based on
group jobs based on the product.

(A) Functional
(B) Product

(C) Geographic
(D) Process

Set-D



59. Bold & CHRIR fa=ferRad 5 9 d=-91 59. According to Herzberg, which of the

Tdh YG-¥EMq dcqd & 2 following is a maintenance factor ?

(A) 99 (A) Salary
(B) I B FRAT (B) Work itself
(C) SRR (C) Responsibility
(D) AT (D) Recognition
60. g Tor W 9« H a7 91 60. e occupies a position in between
I line and staff authority.
(A HIATHB TS (A) Functional organisation
(B) HHEHG Il (B) Functional authority
(C) favrfraeor (C) Departmentation
(D) Suga H A Bl 7Tl (D) None of the above

61. “SeWl ERT U Afdddl Bl AMURG 61. “Management by objectives has failed to

motivate people.” This statement is of :

H H el TET & 17 TE B ¢

(A) & Afa=T @ (A) Harry Levison
(B) R TH. TR & (B) R.S. Davar
(C) T TH. §I5T &I (C) A. M. Brown
(D) 3. U%. Ta. 819 @ (D) E.F.L.Brech

175-N (19) Set-D



62.

63.

64.

65.

175-N

I7d Ygg BRI B B
(A) MRS AN TR
(B) R I W
(C) dvfcd WX

(D) Suda Wl

B J Y9 Wit & oy fhe YR &
gReqIoT &7 RIS o ?

(A) T

(B) dsnfi®

(C) FrcHD

(D) UIR

JAMURTT & ‘FfdRTd Td  EISAHD
eI faRRY fhem < off ?

(A) Taferm amse

(B) Euial

(©) W

(D) fora amfiRa

& forg ofre weayl B & |

(A) g
(B) S
(C) 3rferaar
(D) fawa

(20)

62.

63.

64.

65.

Top management works on :
(A) Strategic plan

(B) Corporate plan

(C) Budgeting

(D) All of the above

What

contribute to the management literature ?

kind of approach did Fayol

(A) Divisional
(B) Scientific
(C) Functional

(D) Professional

‘Individual and organizational theory’ of

motivation was propounded by :

(A)  William Quchi

(B) Herzberg

(C) Fayol

(D) Cris Argyris

The oo, role is more important for
lower level manager.

(A) Leadership

(B) Entrepreneurial

(C) Spokesperson

(D) Disseminator

Set-D



66. “Seedl ENT U & WM W fhar gNI 66. ‘“Management by action technique should

be applied instead of management by

UG DI Theilh N bl S |” g Gl

objectives.” This suggestion has been

e given by :

(A) U T, $aR o (A) Peter F. Drucker
(B) WifSl 3R, X1 A (B) George R. Terry
(C) TP. S, Tolk - (C) F.W. Taylor
(D) T & ¥l A (D) N.K. Sethi

67. BIIT ¥ URT BN, 2Wee ok R 7 67. Inspired by Fayol, Harold and Cyril

TP T4 RAraReRT YRR Elfff, TT e propounded a new school of thought
known as :

(A) YST Ufhar ugfd (A) The management process school

(B) WMd dER Ugld (B) The human behaviour school

(C) WINRIg Tgfd (C) The empirical school

(D) SMINIG YUITell Ugld (D) The social system school

68. Tl B IT GIS Ua¢dh 399 0 Jad 68. Agency head or plant manager is most

' Rrady T 2 ? likely associated with which of the
T following ?
(A)  TH el (A) Team leaders
(B) H Yggdh (B) Middle managers
(C) o3l Yaud (C) First line managers
(D) Y yaerm (D) Top managers

175-N (21) Set-D



69.

70.

71.

72.

175-N

TG B T R G 8

(A) T IS

(B) fhurcH® e
(C) W TG TP e

(D) #fga |eT

frefoRed § & S-|1 Ue fo=i URom
Tl B ?

(A) e

(B) Ud H HHATRAT Bl wIfrcT

(C) ¥\
(D) HHIH

YaRIDII Seed M AR -
(A) fafr= St

(B) M Se¥d

(C) < 3w

(D) TP e

TR T A B ARIRYT RigRd @
yfaure foar &

(A) Al |

(B) am&Hdl A

(C) B9ET |

(D) HRIR A

(22)

69.

70.

71.

72.

Oldest pattern of organisational structure
IS :

(A) Line organisation

(B) Functional organisation

(C) Line and staff organisation

(D) Matrix organisation

Which of the following is not a financial

incentive ?

(A) Pay

(B) Employees’ participation in

management

(C) Bonus

(D) Commission

Management objectives should be :

(A) Multiple objectives

(B) Three objectives

(C) Two objectives

(D) Single objective

X and Y theory of motivation has been
propounded by :

(A) Maslow

(B) Ouchi

(C) Herzberg

(D) McGregor

Set-D



73.

74.

75.

175-N

SR @ fharcAd  WTed H Tl
I

(A) Y Y SR & UM AT B
(B) FHHAIRAN FT Y < @

(C d @ fou R SR U

o &

(D) STET ®I ARG B TS BT 8

(A) DA
(B) i
(C) 3FfaRoT
(D) AR

g ?

CNIREELE]
(B) fawm
(C) =

(D) WS

(23)

73.

74.

75.

In Taylor’s functional organisation, gang

boss :

(A) Inspects the quality of work done

(B) Issues instructions to workers

(C) Set up tools and machine for

work

(D) Compiles cost of production

An organisational culture is similar to an
individual ................ :

(A) Skills

(B) Personality

(C) Motivation

(D) Ability

‘Harmony of objectives’ is a principle
of :

(A) Directing

(B) Planning

(C) Controlling

(D) Organising

Set-D



76.

77.

78.

175-N

I BT T foaRYRT BT ferred
fepa -

(A) HATR A

(B) <+

(C) e A

(D) <=

(A) UG gRT U
(B) Sl gNT Yo
(C) YSHIDI =
(D) o=

BAd & AR Ud AEie Ja6d @
1 Bt B fIRoTa fobam ST &

(A) TEID BT |

(B) fxi wu

(C) RS wU |

(D) ST W

(24)

76.

77.

78.

Trait theory of leadership has been

propounded by :

(A) McGregor

(B) Terry

(C) Bernard

(D) Teed

Management information system

represents .............. .

(A) Management by exception

(B) Management by objectives

(C) Management control

(D) Planning

According to Fayol, all activities of an

industrial undertaking are divided as :

(A) Technical

(B) Financial

(C) Commercial

(D) All of the above
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79.

80.

81.

175-N

fraTcHe e T &I o 2

(A) foRerT

(B) &l

(C) v

(D) fa2ve I Helle

HAEA e Bl GURA T Yawerd e

THID BT TANT PRA & 7

(A) Rga grnfHT
(B) HR-uwy fuRRor
(C) oY aven fufRor ArsfelT

(D) O fawersor

SRURT el 2 |
(A) T

(8) RO
(© fEm

(D) W

(25)

79.

80.

81.

The main advantage of functional

organisation is :

(A) Specialization

(B) Simplicity

(C) Experience

(D) Expert Advice

................. is a technique that a manager

uses to improve resource allocation

decision.

(A) Linear programming

(B) Work scheduling

(C) Economic order quantity modelling

(D) Regression analysis

motivates employees to do

more work.

(A) Organization

(B) Motivation

(C) Control

(D) Co-ordination
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82.

83.

84.

175-N

WRIYOT fHa S \eell &

(A) STREIRIE @

(B) SMRHR

(C) SERE &I

(D) S F ¥ I T

AAYOT HHAIRAT W RS T & o
T YHR & g BT WINT {5 e & 2

(A) TRReAO
(B) oH-oF Al
(C) URITTABRI

(D) SHdAY

T 9 -1 ded Wed & BN
IRl BT e & 2
(A) dDID!

o\

(B) WMINTh-AIeh

(C) uldga!
(D) 3w

(26)

82.

83.

84.

Delegation can be done of :

(A) Responsibility

(B) Authority

(C) Accountability

(D) None of the above

Which type of leader uses the style with
unskilled workers where a great deal of

control is needed ?

(A) Situational

(B) Transactional

(C) Transformational

(D) Democratic

Which of these forces is a part of the task

environment of an organisation ?

(A) Technological

(B) Socio-cultural

(C) Competitors

(D) Economic

Set-D



85.

86.

87.

175-N

fFfoiad § & SIF-|1 G STl B
TP YBR Tal @ ?

(A) gd

(B) STAEE

(C) Feae]

(D) @i

AT 2 |

(A) RIS Ja+e

(B) WA

(C) AT

(D) ifeT

gl S el ¢ |

() 3iferor

(B) SRl

(C) THI (A) T (B)
(0) ST A § B T

(27)

85.

86.

87.

Which among the following is not a type

of communication trap ?

(A) Circle

(B) Chain

(C) Freeflow

(D) Triangular

Environmental scanning creates the

foundation for ................ )

(A) Project management

(B) Forecasts

(C) Benchmarking

(D) Budgeting

Span of control also refers to span of

what ?

(A) Authority

(B) Responsibility

(C) Both (A) and (B)

(D) None of the above
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88. TP Yoy oI i Ud fafal & amur 88. A manger who works with the help of

rules and regulation is called :

R BN HRAT &, Bl € :

(A) IEET (A) Laissez faire leader
(B) VR (B) Traitest leader

(C) STHHRTMME! el (C) Bureaucratic leader
(D) RN =T (D) Participator leader

89 UgY & v g o § freforRad 89. Which one of the following is the control

QI e &2 function of management ?
(A) Foied] F (A) Budgetary control
(B) @I =T (B) Cost control
(C) i fgao (C) Financial control
(D) Sugad FI (D) All of the above
90. @I 3R WP |Te foeR 2 90. Line and staff organisation is an

extension of :

(A) Thard e @ (A) Functional organisation
(B) XdT TS Bl (B) Line organisation

(C) URISHT | & (C) Project organisation
(D) WMfT FTed @1 (D) Committee organisation

175-N (28) Set-D



o1. f=forlRad ® @ fow A9 N1 YevaId 91. All managerial functions are settled by

T geRery wEt @) eaRed wear £ 2 managers with the tool of :
(A) BRISE] (A) Planning
(B) foRM (B) Decision-making
(C) (C) Control
(D) JEBR (D) Authority
92. RN YSTH R Bl B B | 92.  Communication is the task of imparting
(A) TR (A) Training
(B) SIFBRI (B) Information
(©) =M (C) Knowledge
(D) W= (D) Message

93. fr=or @ &1 W vy e ugfd @l 93. C. P. M. method of control was

Rre RIS fraT o developed by :

(A) g fe d=ge Hrl (A) Due De Meemoues Company
(B) TS ure Hw I (B) De Pont Company

(C) TRe fr e (C) Gast Nicksons Chart

(D) SUYa H A Bl 7l (D) None of the above

175-N (29) Set-D



04, W{%{ RN ISR PR SIIRISGI 94. Repeated use plans or standing plans

3 wfteet & includes :

(A) St g Hifdm (A) Obijectives and policies
(B) UfhaT 3R e (B) Procedures and methods
© e (C) Rules

(D) SWa &l (D) All of the above

95. “UPR FIW ¥ K P Wb Tl 2 95. ‘““Authority flows downwards from top to

e STarees] 4 W SR D NG |” Ig the bottom whereas accountability flows

upwards from bottom to top.” It is found

UrT AT # _

in:
(A) DD JGT 4§ (A) Scalar chain
(B) fharH® e+ H (B) Functional organization
(C) <ffq gfm # (C) Committee structure
(D) fAaeE # (D) Planning

96. foe PRI @9 & forv y"" @rG 96, Standard costing technique is used to

JHIS BT FANT fobar S & 2 control what ?
(A) rTd (A) Cost
(B) o (B) Profit
(©) e (C) Volume
(©) (D) Revenue

175-N (30) Set-D



97.

98.

99.

100.

175-N

ARG T3 B GBI Hed ¢ |

(A) T

(B) d@

(C) PR

(D) SWa &l
SIEAr TRV Udh JHR &
(A)  3TRE THET §

(B) SRS T 2
) forad wmwor 8

(D) aq TR §

=T erl H it T8 Bi

(A) AR H B e o1 B

(B) FSITEH @& AMGI BT U BT B

(C) WHI-vd R AWed & Al @
Cap)

(D) Fwred o1 W& foen & @M @ for
HIIATE! FHAT

TOa B MRS RIS Riged @
& oy STRerR B ¢ |

(A) @R ¥ gfg

(B) R H B

(© wgfe # g%

(D) sragfic § oA

(31)

98.

99.

100.

of a business letter is

called layout.
(A)
(B)
(©)
(D)

Body

Content

Pattern

All of the above

‘Grapevine’ communication is a type of :

(A) Formal communication

(B)

(C)  Written communication

Informal communication

(D) Vertical communication

The controlling function does not include
the function of :

(A)
(B)
(©)

Assigning duties to the staff
Setting standards of performance

Measuring performance from time
to time

action to the

(D) Taking bring

performance to right track

According to Herzberg’s motivator
hygiene theory, the hygiene factors are

responsible for :

(A) Increase in health
(B) Decrease in illness
(C) Increase in satisfaction

Decrease in dissatisfaction

(D)

Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B SITER 3P YeM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R & A I 2| ST |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras ¥ @ I I W Wl et &
QYYD Ie fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%el H dN-ga, deldeicy, Yok a2l HegerR
B o ST T SHBT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |
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2y
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